A response to ‘Fitting and Interpreting Occupancy Models’
Guillera-Arroita et al.

Appendix S1: Full simulation results (scenarios A-B)

This appendix contains the full simulations results for the simulated scenarios (table
S1.1). For all scenarios we tested all the combinations of the following sampling

sizes: S = 55,110 or 165 sites and K = 2, 3,4 or 5 replicate surveys per site

Table S1.1 Simulated scenarios

Occupancy probability Detection probability
Scenario Al* Y =04 logit(p;) = —0.533 + 0.22x;
Scenario A2 Y =0.8 logit(p;) = —2.0 + 0.20x;

p; ~ Beta(0.5,1) forx; € {1, 2},
Scenario B1* Y =04 p; ~ Beta(1,1) forx; = 3,
p; ~ Beta(10,2) for x; € {4,5}.

p; ~ Beta(3,6) forx; € {1, 2},
Scenario B2 Y =04 p; ~ Beta(5,5) for x; = 3,
p; ~ Beta(10,2) for x; € {4,5}.

p; ~ Beta(3,6) forx; € {1, 2},
Scenario B3 Y =0.8 p; ~ Beta(5,5) for x; = 3,
p; ~ Beta(10,2) for x; € {4,5}.

* Scenario explored by WLD.
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Figure S1.1: Scenario A1, S = 55
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Figure S1.2: Scenario A1, S = 110
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Figure S1.3: Scenario A1, S = 165
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Figure S1.4: Scenario A2, S = 55
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Figure S1.5: Scenario A2, S = 110
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Figure S1.6: Scenario A2, S = 165
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Figure S1.7: Scenario B1, S = 55
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Figure S1.10: Scenario B2, S = 55
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Figure S1.11: Scenario B2, S = 110
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Figure S1.12: Scenario B2, S = 165
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Figure S1.14: Scenario B3, S = 110
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Figure S1.15: Scenario B3, S = 165



